Homework & S0 LUTioNg
et 4: CuC: 13,14,17, 18
Set 2: Sm: 8.1 2,6,15,17
¢t 80 SMi1 45,3, 41, L.2: 11,2k
RBoNus: e&m A .A: 5% 53

Set 1: CvC 3.3:713,14,13, 18

12(a) y=f(x) st f(3)=12, f/(5)=.4
Vll,'wnswi:& e:qUM'fW' A\{f- £7(x) X x

at X
= lﬁT v oA ;s.x\
or £(x)-£(5)=.4(X-5)
Fx)A E(8) + ,Ar(x.—':'ﬂ\
(b)
Jraph:
| .{ You dont need tv know what f(x)
M LookS Vike Since as lona a< e
e l mfﬁusaare: ¢ small nuugahj
2 Yae function will ok Locadly
il Vihear grnce its dexivative

$/(%) exists.

(¢) X=5.5 -=5+,3
MNlax= .3
(1) (&)= .4 (33 [z .12]

(1D £(6.3) 2 £(8) +.4(.3) = L.21T.|>

f(e.23)% 1.33]
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2 .85— 3.ls 28 s-3ls 36
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% ’u:-a want 1o estimate ¢n (1) |, We khow Sin (T/3) and
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- gl L
Simslar iy
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58, |f a reswlt s True for n, and frue |n %-Wg}fﬂ,l‘ for Hie (n+]) case

when Yrue for (n) | we (am M‘f‘v an{ cace by
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ok bace case. Now We assume ﬁ"s. True that ;*fﬂf‘l:(ﬂ]hﬁﬂ
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